

Research Article

On Distance (r, k) -Fibonacci Numbers and Their Combinatorial and Graph Interpretations

Dorota Bród

Faculty of Mathematics and Applied Physics, Rzeszów University of Technology, Aleja Powstańców Warszawy 12, 35-959 Rzeszów, Poland

Correspondence should be addressed to Dorota Bród; dorotab@prz.edu.pl

Received 7 May 2015; Accepted 2 September 2015

Academic Editor: Ali R. Ashrafi

Copyright © 2015 Dorota Bród. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

We introduce three new two-parameter generalizations of Fibonacci numbers. These generalizations are closely related to k -distance Fibonacci numbers introduced recently. We give combinatorial and graph interpretations of distance (r, k) -Fibonacci numbers. We also study some properties of these numbers.

1. Introduction

In general we use the standard terminology of the combinatorics and graph theory; see [1]. The well-known Fibonacci sequence $\{F_n\}$ is defined by the recurrence $F_n = F_{n-1} + F_{n-2}$ for $n \geq 2$ with $F_0 = F_1 = 1$. The Fibonacci numbers have been generalized in many ways, some by preserving the initial conditions and others by preserving the recurrence relation. For example, in [2] k -Fibonacci numbers were introduced and defined recurrently for any integer $k \geq 1$ by $F(k, n) = kF(k, n-1) + F(k, n-2)$ for $n \geq 2$ with $F(k, 0) = 0$, $F(k, 1) = 1$. In [3] the following generalization of the Fibonacci numbers was defined: $x_n = 2^r x_{n-1} + x_{n-2}$ for an integer $r \geq 0$ such that $4^{r-1} + 1 \neq 0$ and $n \geq 2$ with $x_0 = 0$ and $x_1 = 1$. Other interesting generalizations of Fibonacci numbers are presented in [4, 5]. In the literature there are different kinds of distance generalizations of F_n . They have many graph interpretations closely related to the concept of k -independent sets. We recall some of such generalizations:

- (1) Reference [6]. Consider $F(k, n) = F(k, n-1) + F(k, n-k)$ for $n \geq k+1$ with $F(k, n) = n+1$ for $n \leq k$.
- (2) References [4, 7, 8]. Consider Fibonacci p -numbers $F_p(n) = F_p(n-1) + F_p(n-p-1)$ for any given p ($p =$

$1, 2, 3, \dots$) and $n > p+1$ with $F_p(0) = 0$ and $F_p(n) = 1$ for $1 \leq n \leq p+1$.

- (3) Reference [9]. Consider $Fd^{(1)}(k, n) = Fd^{(1)}(k, n-k+1) + Fd^{(1)}(k, n-k)$ for $n \geq k$ with $Fd^{(1)}(k, n) = 1$ for $n \leq k-1$.
- (4) Reference [9]. Consider $Fd^{(2)}(k, n) = Fd^{(2)}(k, n-k+1) + Fd^{(2)}(k, n-k)$ for $n \geq k$ with $Fd^{(2)}(k, n) = 0$ for $n = 0, \dots, k-2$, $Fd^{(2)}(k, k-1) = 1$, $Fd^{(2)}(1, 1) = 1$, $Fd^{(2)}(2, 2) = 2$, for $k \geq 3$ $Fd^{(2)}(k, k) = 1$.
- (5) Reference [9]. Consider $Fd^{(3)}(k, n) = Fd^{(3)}(k, n-k+1) + Fd^{(3)}(k, n-k)$ for $n \geq 2k-1$ with $Fd^{(3)}(k, n) = 1$ for $n = 0, \dots, k-1$, $Fd^{(3)}(2, 2) = 2$, for $k \geq 3$ $Fd^{(3)}(k, k) = Fd^{(3)}(k, 2k-2) = 3$, for $k+1 \leq n \leq 2k-1$ $Fd^{(3)}(k, n) = 4$.
- (6) Reference [10]. Consider $F_2^{(1)}(k, n) = F_2^{(1)}(k, n-2) + F_2^{(1)}(k, n-k)$ for $n \geq k+1$ with

$$F_2^{(1)}(k, n) = \begin{cases} 1 & \text{if } n \leq k-1 \text{ or } n = k = 1, \\ 2 & \text{if } n = k \geq 2. \end{cases} \quad (1)$$

TABLE 1: Distance (r, k) -Fibonacci numbers $F_r^{(1)}(k, n)$ of the first kind.

$k \setminus n$	0	1	2	3	4	5	6	7	8
1	1	1	$r + 1$	$2r + 1$	$r^2 + 3r + 1$	$r^2 + 5r + 2$	$r^3 + 4r^2 + 6r + 2$	$2r^3 + 9r^2 + 8r + 2$	$r^4 + 6r^3 + 15r^2 + 10r + 2$
2	1	1	$2r$	$2r$	$4r^2$	$4r^2$	$8r^3$	$8r^3$	$16r^4$
3	1	1	r	$r^2 + r$	$2r^2$	$2r^3 + r^2$	$r^4 + 3r^3$	$4r^4 + r^3$	$3r^5 + 4r^4$
4	1	1	r	r	$r^3 + r^2$	$r^3 + r^2$	$2r^4 + r^3$	$2r^4 + r^3$	$r^6 + 3r^5 + r^4$
5	1	1	r	r	r^2	$r^4 + r^2$	$r^4 + r^3$	$2r^5 + r^3$	$2r^5 + r^4$
6	1	1	r	r	r^2	r^2	$r^5 + r^3$	$r^5 + r^3$	$2r^6 + r^4$
7	1	1	r	r	r^2	r^2	r^3	$r^6 + r^3$	$r^6 + r^4$

(7) Reference [11]. Consider $F_2^{(2)}(k, n) = F_2^{(2)}(k, n - 2) + F_2^{(2)}(k, n - k)$ for $n \geq k + 1$ with

$$F_2^{(2)}(k, n) = \begin{cases} 0 & \text{if } n \text{ is odd and } n \leq k - 1, \\ 1 & \text{if } n \text{ is even and } n \leq k - 1, \end{cases}$$

$$F_2^{(2)}(k, k) = \begin{cases} 0 & \text{if } k = 1, \\ 1 & \text{if } k \text{ is odd and } k \geq 3, \\ 2 & \text{if } k \text{ is even.} \end{cases} \quad (2)$$

(8) Reference [11]. Consider $F_2^{(3)}(k, n) = F_2^{(3)}(k, n - 2) + F_2^{(3)}(k, n - k)$ for $n \geq k + 1$ with

$$F_2^{(3)}(k, n) = \begin{cases} 1 & \text{if } n \text{ is even and } n \leq k - 1, \\ 2 & \text{if } n \text{ is odd and } n \leq k - 1, \end{cases}$$

$$F_2^{(3)}(k, k) = \begin{cases} 3 & \text{if } k \text{ is odd and } k \geq 3, \\ 2 & \text{if } k \text{ is even or } k = 1. \end{cases} \quad (3)$$

In this paper we introduce three new two-parameter generalizations of distance Fibonacci numbers. They are closely related with the numbers $F_2^{(j)}(k, n)$, $j = 1, 2, 3$, presented in [10, 11]. We show their combinatorial and graph interpretations and we present some identities for them.

2. Distance (r, k) -Fibonacci Numbers

Let $k \geq 1, n \geq 0$, and $r \geq 1$ be integers. We define distance (r, k) -Fibonacci numbers of the first kind $F_r^{(1)}(k, n)$ by the recurrence relation

$$F_r^{(1)}(k, n) = rF_r^{(1)}(k, n - 2) + r^{k-1}F_r^{(1)}(k, n - k) \quad (4)$$

for $n \geq k + 1$

with the following initial conditions:

$$F_r^{(1)}(k, 0) = F_r^{(1)}(k, 1) = 1,$$

$$F_r^{(1)}(k, n) = r^{\lfloor n/2 \rfloor} \quad \text{for } n = 2, 3, \dots, k - 2,$$

$$F_r^{(1)}(k, k - 1) = r^{\lfloor (k-1)/2 \rfloor} \quad \text{for } k \geq 3,$$

$$F_r^{(1)}(k, k) = r^{k-1} + r^{\lfloor k/2 \rfloor} \quad \text{for } k \geq 2. \quad (5)$$

For $r = 1$ we get $F_1^{(1)}(k, n) = F_2^{(1)}(k, n)$. These numbers were introduced in [10].

If $r = 1$ and $k = 1$, then $F_1^{(1)}(1, n)$ gives the Fibonacci numbers F_n . For $r = 1$ and $k = 3$ the numbers $F_1^{(1)}(3, n)$ are the well-known Padovan numbers.

Table 1 includes the values of $F_r^{(1)}(k, n)$ for special values of k and n .

Let $k \geq 1, n \geq 0$, and $r \geq 1$ be integers. We define the distance (r, k) -Fibonacci numbers of the second kind $F_r^{(II)}(k, n)$ by the following recurrence relation:

$$F_r^{(II)}(k, n) = rF_r^{(II)}(k, n - 2) + r^{k-1}F_r^{(II)}(k, n - k) \quad (6)$$

for $n \geq k + 1$

with initial conditions

$$F_r^{(II)}(k, n) = \begin{cases} r^{\lfloor n/2 \rfloor} & \text{for even } n, \\ 0 & \text{for odd } n, \end{cases}$$

for $n = 0, 1, \dots, k - 1$ (7)

$$F_r^{(II)}(k, k) = \begin{cases} 0 & \text{for } k = 1, \\ r^{k-1} & \text{for odd } k, k \geq 3, \\ r^{k-1} + r^{k/2} & \text{for even } k. \end{cases}$$

For $r = 1$ we have then $F_1^{(II)}(k, n) = F_2^{(2)}(k, n)$; see [10]. Moreover, for $r = 1$ and $k = 1, n \geq 2$ $F_1^{(II)}(k, n) = F_{n-2}$.

In Table 2 a few first words of the distance (r, k) -Fibonacci numbers of the second kind $F_r^{(II)}(k, n)$ for special values of k and n are presented.

Let $k \geq 1, n \geq 0$, and $r \geq 1$ be integers. We define distance (r, k) -Fibonacci numbers of the third kind $F_r^{(III)}(k, n)$ by the following recurrence relation:

$$F_r^{(III)}(k, n) = rF_r^{(III)}(k, n - 2) + r^{k-1}F_r^{(III)}(k, n - k) \quad (8)$$

for $n \geq k + 1$

TABLE 2: Distance (r, k) -Fibonacci numbers $F_r^{(II)}(k, n)$ of the second kind.

$k \setminus n$	0	1	2	3	4	5	6	7	8
1	1	0	r	r	$r^2 + r$	$2r^2 + r$	$r^3 + 3r^2 + r$	$3r^3 + 4r^2 + r$	$r^4 + 6r^3 + 5r^2 + r$
2	1	0	$2r$	0	$4r^2$	0	$8r^3$	0	$16r^4$
3	1	0	r	r^2	r^2	$2r^3$	$r^4 + r^3$	$3r^4$	$3r^5 + r^4$
4	1	0	r	0	$r^3 + r^2$	0	$2r^4 + r^3$	0	$r^6 + 3r^5 + r^4$
5	1	0	r	0	r^2	r^4	r^3	$2r^5$	r^4
6	1	0	r	0	r^2	0	$r^5 + r^3$	0	$2r^6 + r^4$
7	1	0	r	0	r^2	0	r^3	r^6	r^4

with initial conditions

$$F_r^{(III)}(1, 1) = 2,$$

$$F_r^{(III)}(k, n) = \begin{cases} r^{n/2} & \text{for even } n, \\ 2r^{\lfloor n/2 \rfloor} & \text{for odd } n, \end{cases} \quad (9)$$

for $n = 0, 1, \dots, k - 1$

$$F_r^{(III)}(k, k) = \begin{cases} r^{k-1} + r^{k/2} & \text{for even } k, \\ r^{k-1} + 2r^{\lfloor k/2 \rfloor} & \text{for odd } k \geq 3. \end{cases}$$

For $r = 1$ we get $F_1^{(III)}(k, n) = F_2^{(3)}(k, n)$. These numbers were introduced in [11]. For $r = 1, k = 1$, and $n \geq 0$ we have $F_1^{(III)}(1, n) = F_{n+1}$. Moreover, for $r = 1, k = 4$, and $n \geq 1$ $F_1^{(III)}(4, 2n) = F_n$.

Table 3 includes a few initial words of distance $F_r^{(III)}(k, n)$ for special values of k and n .

By the definition of distance (r, k) -Fibonacci numbers of three kinds we get for $k \geq 1$ and $n \geq 0$ the following relations:

$$F_r^{(III)}(k, n) = 2F_r^{(I)}(k, n) \quad \text{for even } k \text{ and odd } n,$$

$$F_r^{(I)}(k, n) = F_r^{(II)}(k, n) = F_r^{(III)}(k, n) \quad (10)$$

for even k and even n ,

$$F_r^{(II)}(k, n) = 0 \quad \text{for even } k \text{ and odd } n.$$

3. Combinatorial and Graph Interpretations of Distance (r, k) -Fibonacci Numbers

In this section we present some combinatorial and graph interpretations of distance (r, k) -Fibonacci numbers. The classical Fibonacci numbers have many combinatorial interpretations. One of them is the interpretation related to set decomposition. We recall it. Let $X = \{1, 2, \dots, n\}, n \geq 1$, and $\mathcal{Y}^* = \{Y_t^* : t \in T\}$ be a family of disjoint subsets of X such that

- (1) $|Y_t^*| \in \{1, 2\}$,
- (2) if $|Y_t^*| = 2$ then Y_t^* contains two consecutive integers,
- (3) $X \setminus \bigcup_{t \in T} Y_t^* = \emptyset$.

It is well known that the number of all families \mathcal{Y}^* is equal to the classical Fibonacci numbers F_n . We introduce analogous interpretation of distance (r, k) -Fibonacci numbers.

Let $r \geq 1$ and $X = \{1, 2, \dots, n\}, n \geq 2$, be the set of n integers. Let $k \geq 3$. Assume that \mathcal{R}_n is a multifamily of two-element subsets of X such that

$$\mathcal{R}_n = \left\{ \underbrace{\{1, 2\}, \{1, 2\}, \dots, \{1, 2\}}_{r\text{-times}}, \underbrace{\{2, 3\}, \dots, \{2, 3\}}_{r\text{-times}}, \dots, \underbrace{\{n-1, n\}, \dots, \{n-1, n\}}_{r\text{-times}} \right\}. \quad (11)$$

For fixed $t, 1 \leq t \leq n - k$ by $\mathcal{R}(k, t)$ we denote a subfamily of \mathcal{R}_n such that $\mathcal{R}(k, t) = \{\{t + j, t + j + 1\} : j = 0, 1, \dots, k - 2, t = 1, 2, \dots, n - k + 1\}$. Analogously for fixed t' we define $\mathcal{R}(k, t') = \{\{t, t + 1\} : t = 1, 2, \dots, n - 1\}$.

Let $\mathcal{R}_{t,t'}^{(j)}, j = 1, 2, 3$, be a subfamily of \mathcal{R}_n such that $\mathcal{R}_{t,t'}^{(j)} = \mathcal{R}(k, t) \cup \mathcal{R}(k, t')$ and

- (a) for each $R(k, t'_1), R(k, t'_2) \in \mathcal{R}(k, t'), t'_1 \neq t'_2$ holds $|t'_1 - t'_2| \geq 2$, for each $R(k, t_1), R(k, t_2) \in \mathcal{R}(k, t), t_1 \neq t_2$, holds $|t_1 - t_2| \geq k$,
- (b) for each $R_t \in \mathcal{R}_{t,t'}^{(j)}$ holds $|R_t| \in \{2, k\}$ for $t \in T$

and exactly one of the following conditions for $R_t \in \mathcal{R}_{t,t'}^{(j)}$ and $j = I, II, III$, respectively, is satisfied:

- (c1) $X \setminus \bigcup_{t \in T} R_t = \emptyset$ or $X \setminus \bigcup_{t \in T} R_t = \{n\}$,
- (c2) $X \setminus \bigcup_{t \in T} R_t = \emptyset$,
- (c3) $|X \setminus \bigcup_{t \in T} R_t| \in \{0, 1\}$ and if $p \in X \setminus \bigcup_{t \in T} R_t$ then either $p = 1$ or $p = n$.

Assume that the condition (c1) is satisfied. Then the subfamily $\mathcal{R}_{t,t'}^{(1)}$ we will call a decomposition with repetitions of the set X with the rest at the end.

Assume that the condition (c2) is satisfied. Then the subfamily $\mathcal{R}_{t,t'}^{(2)}$ we will call a perfect decomposition with repetitions of the set X .

Assume that the condition (c3) is satisfied. Then the subfamily $\mathcal{R}_{t,t'}^{(3)}$ we will call a decomposition with repetitions of the set X with the rest at the end or at the beginning.

Theorem 1. *Let $k \geq 3, n \geq 2$, and $r \geq 1$ be integers. Then the number of all decompositions with repetitions of the set X with the rest at the end is equal to the number $F_r^{(I)}(k, n)$.*

TABLE 3: Distance (r, k) -Fibonacci numbers $F_r^{(III)}(k, n)$ of the third kind.

$k \setminus n$	0	1	2	3	4	5	6	7	8
1	1	2	$r + 2$	$3r + 2$	$r^2 + 5r + 2$	$4r^2 + 7r + 2$	$r^3 + 9r^2 + 9r + 2$	$5r^3 + 9r^2 + 16r + 4$	$r^4 + 14r^3 + 18r^2 + 18r + 4$
2	1	2	$2r$	$4r$	$4r^2$	$8r^2$	$8r^3$	$16r^3$	$16r^4$
3	1	2	r	$r^2 + 2r$	$3r^2$	$2r^3 + 2r^2$	$r^4 + 5r^3$	$5r^4 + 2r^3$	$3r^5 + 7r^4$
4	1	2	r	$2r$	$r^3 + r^2$	$2r^3 + 2r^2$	$2r^4 + r^3$	$4r^4 + 2r^3$	$r^6 + 3r^5 + r^4$
5	1	2	r	$2r$	r^2	$r^4 + 2r^2$	$2r^4 + r^3$	$2r^5 + 2r^3$	$4r^5 + r^4$
6	1	2	r	$2r$	r^2	$2r^2$	$r^5 + r^3$	$2r^5 + 2r^3$	$2r^6 + r^4$
7	1	2	r	$2r$	r^2	$2r^2$	r^3	$r^6 + 2r^3$	$2r^6 + 2r^4$

Proof (induction on n). Let $k \geq 3, n \geq 2$, and $r \geq 1$ be integers. Let $X = \{1, 2, \dots, n\}$. Denote by $d(n)$ the number of all decompositions with repetitions of X with the rest at the end. Let $n = 2$. Then it is easily seen that there are exactly r decompositions of X . Thus we get $d(2) = r = F_r^{(I)}(k, 2)$. Let $n \geq 3$. Assume that equality $d(n) = F_r^{(I)}(k, n)$ holds for an arbitrary n . We will show that $d(n + 1) = F_r^{(I)}(k, n + 1)$.

Let $d^2(n + 1)$ and $d^k(n + 1)$ denote the number of all decompositions R with repetitions of the set $X = \{1, 2, \dots, n + 1\}$ with the rest at the end such that $\{1, 2\} \in R$ and $\{1, 2, \dots, k\} \in R$, respectively. It is easily seen that

$$d(n + 1) = d^2(n + 1) + d^k(n + 1). \tag{12}$$

Moreover, we get

$$\begin{aligned} d^2(n + 1) &= d^k(n - 1), \\ d^k(n + 1) &= d^k(n + 1 - k). \end{aligned} \tag{13}$$

By the induction hypothesis and by recurrence (4) we obtain

$$\begin{aligned} d(n + 1) &= d(n - 1) + d(n + 1 - k) \\ &= F_r^{(I)}(k, n - 1) + F_r^{(I)}(k, n + 1 - k) \\ &= F_r^{(I)}(k, n + 1), \end{aligned} \tag{14}$$

which ends the proof. \square

Analogously as Theorem 1 we can prove the following.

Theorem 2. *Let $k \geq 3, n \geq 2$, and $r \geq 1$ be integers. Then the number of all perfect decompositions with repetitions of the set X is equal to the number $F_r^{(II)}(k, n)$.*

Theorem 3. *Let $k \geq 3, n \geq 2$, and $r \geq 1$ be integers. Then the number of all decompositions with repetitions of the set X with the rest at the end or at the beginning is equal to the number $F_r^{(III)}(k, n)$.*

Distance (r, k) -Fibonacci numbers of three kinds have a graph interpretation, too. It is connected with k -distance H -matchings in graphs. We recall the definition of a k -distance H -matching. Let G and H be any two graphs, let $k \geq 1$ be an integer, and a k -distance H -matching M of G is a subgraph of G such that all connected components of M are isomorphic

to H and for each two components H_1 and H_2 from M for each $x \in V(H_1)$ and $y \in V(H_2)$ holds $d_G(x, y) \geq k$. In case of $k = 1$ and $H = K_2$ we obtain the definition of matching in classical sense. If M covers the set $V(G)$ (i.e., $V(M) = V(G)$), then we say that M is a perfect matching of G . For $k = 2$ and $H = K_1$ the definition of k -distance H -matchings reduces to the definition of an independent set of a graph G . In the literature the generalization of H -matching of a graph G is considered, too. For a given collection $\mathcal{H} = H_1, H_2, \dots, H_n$ of graphs a \mathcal{H} -matching \mathcal{M} of G is a family of subgraphs of G such that each connected component of \mathcal{M} is isomorphic to some $H_i, 1 \leq i \leq n$. Moreover, the empty set is a \mathcal{H} -matching of G , too. If $H_i = H$ for all $i = 1, 2, \dots, n$, then we obtain the definition of H -matching.

Among \mathcal{H} -matchings we consider such \mathcal{H} -matchings, where $H_i, i = 1, 2, \dots, n$, belong to the same class of graphs, namely, 2-vertex or k -vertex paths (P_2 and P_k , resp.), $k \geq 3$.

Consider a multipath P_n^r , where $n \geq 2, r \geq 1, V(P_n^r) = \{x_1, x_2, \dots, x_n\}$, and

$$\begin{aligned} E(P_n^r) = & \left\{ \underbrace{\{x_1, x_2\}, \dots, \{x_1, x_2\}}_{r\text{-times}}, \right. \\ & \underbrace{\{x_2, x_3\}, \dots, \{x_2, x_3\}, \dots}_{r\text{-times}}, \\ & \left. \underbrace{\{x_{n-1}, x_n\}, \dots, \{x_{n-1}, x_n\}}_{r\text{-times}} \right\}. \end{aligned} \tag{15}$$

Let $n \geq 2, k \geq 3$, and $r \geq 1$ be integers. In the graph terminology the number $F_r^{(I)}(k, n)$ is equal to the number of special $\{P_2, P_k\}$ -matchings M of the multipath P_n^r such that at most one vertex, namely, x_n , does not belong to a $\{P_2, P_k\}$ -matching of the graph P_n^r . We will call such matchings M a quasi-perfect matching of P_n^r . The number $F_r^{(II)}(k, n)$ is equal to the number of such $\{P_2, P_k\}$ -matchings of P_n^r that both vertex x_1 and vertex x_n belong to some $\{P_2, P_k\}$ -matchings M and M' , respectively, of the graph P_n^r . In other words the number $F_r^{(III)}(k, n)$ is equal to all perfect $\{P_2, P_k\}$ -matchings M of the graph P_n^r .

The number $F_r^{(III)}(k, n)$ is equal to the number of special $\{P_k, P_2\}$ -matchings of the multipath P_n^r such that at most one vertex either vertex x_1 or x_n does not belong to a $\{P_2, P_k\}$ -matching of the graph P_n^r .

Let $\sigma(P_n^r)$ be the number of all perfect $\{P_2, P_k\}$ -matchings M of the graph P_n^r .

Theorem 4. Let $r \geq 1, k \geq 3$, and $n \geq 2$ be integers. Then $\sigma(P_n^r) = F_r^{(II)}(k, n)$.

Proof. Consider a multipath P_n^r where vertices from $V(P_n^r) = \{x_1, x_2, \dots, x_n\}$ are numbered in the natural fashion. Let $\sigma_k(n)$ and $\sigma_2(n)$ be the number of perfect $\{P_2, P_k\}$ -matchings M of P_n^r such that $x_n, x_{n-1} \in V(M)$ and $x_n, x_{n-1}, \dots, x_{n-k} \in V(M)$, respectively. It is easily seen that $\sigma_k(n) + \sigma_2(n) = \sigma(P_n^r)$.

Let M be an arbitrary perfect $\{P_2, P_k\}$ -matching of $P_n^r, k \geq 3$. Consider two cases:

$$(1) \{x_{n-1}, x_n\} \in E(P_k), \text{ where } P_k \in M.$$

Then we can choose the edge $\{x_{n-1}, x_n\}$ on r ways. Moreover, $M = M' \cup \{P_k\}$, where M' is an arbitrary $\{P_2, P_k\}$ -matching of the graph $P_n^r \setminus \{x_n, x_{n-1}, \dots, x_{n-k+1}\}$ which is isomorphic to the multipath P_{n-k}^r . Hence $\sigma_k(n) = r^{k-1} \sigma(P_{n-k}^r)$.

$$(2) \{x_{n-1}, x_n\} \in E(P_2), \text{ where } P_2 \in M.$$

Proving analogously as in case (1) we obtain $\sigma_2(n) = r \sigma(P_{n-2}^r)$.

Consequently

$$\sigma(P_n^r) = \sigma_k(n) + \sigma_2(n) = r^{k-1} \sigma(P_{n-k}^r) + r \sigma(P_{n-2}^r). \quad (16)$$

Claim

$$\sigma(P_n^r) = r^{k-1} F_r^{(II)}(k, n-k) + r F_r^{(II)}(k, n-2). \quad (17)$$

Proof. Assume now that the set $X = \{1, 2, \dots, n\}$ corresponds to $V(P_n^r)$ with the numbering in the natural fashion. Let $\mathcal{R}(t, t') = \{R_t : t \in T\} \cup \{R_{t'} : t' \in T\}$ be a multifamily of X which gives a perfect decomposition of the set X . Then every R_t and $R_{t'}$ correspond to subgraph $P_{|R_t|}$ and $P_{|R_{t'}|}$ for $t, t' \in T$, respectively, of P_n^r . By Theorem 2 we get

$$\begin{aligned} \sigma(P_n^r) &= \sigma_k(n) + \sigma_2(n) \\ &= r^{k-1} F_r^{(II)}(k, n-k) + r F_r^{(II)}(k, n-2). \end{aligned} \quad (18)$$

Moreover, by (6) we obtain $\sigma(P_n^r) = F_r^{(II)}(k, n)$, which ends the proof. \square

Analogously we can prove combinatorial interpretations of numbers $F_r^{(I)}(k, n)$ and $F_r^{(III)}(k, n)$.

4. Identities for Distance (r, k) -Fibonacci Numbers

In this section we give some identities and some relations between distance (r, k) -Fibonacci numbers of three types.

Theorem 5. For $k \geq 1, n \geq 2k - 2$, and $j = I, II, III$,

$$\begin{aligned} F_r^{(j)}(k, n) &= r F_r^{(j)}(k, n-2) + r^{k-2} F_r^{(j)}(k, n-k+2) \\ &\quad - r^{2k-3} F_r^{(j)}(k, n-2k+2). \end{aligned} \quad (19)$$

Proof. We give the proof for distance (r, k) -Fibonacci numbers of the first kind. By the definition of numbers $F_r^{(I)}(k, n)$, we have

$$\begin{aligned} r F_r^{(I)}(k, n-2) + r^{k-2} F_r^{(I)}(k, n-k+2) \\ - r^{2k-3} F_r^{(I)}(k, n-2k+2) &= r F_r^{(I)}(k, n-2) \\ + r^{k-2} (r F_r^{(I)}(k, n-k) + r^{k-1} F_r^{(I)}(k, n-2k+2)) \\ - r^{2k-3} F_r^{(I)}(k, n-2k+2) &= r F_r^{(I)}(k, n-2) \\ + r^{k-1} F_2^{(I)}(k, n-k) &= F_r^{(I)}(k, n), \end{aligned} \quad (20)$$

which ends the proof. \square

Corollary 6. For $n \geq 2, F_n = (1/2)(F_{n-2} + F_{n+1})$.

Proof. For $r = 1, j = I$, and $k = 1$ by (19) we obtain

$$F_1^{(I)}(1, n) = F_n = F_{n-2} + F_{n+1} - F_n. \quad (21)$$

Hence

$$F_n = \frac{1}{2} (F_{n-2} + F_{n+1}). \quad (22)$$

\square

Theorem 7. For $r \geq 1, k \geq 2$, and $n \geq 1$,

$$F_r^{(I)}(k, n) = F_r^{(II)}(k, n) + F_r^{(II)}(k, n-1). \quad (23)$$

Proof (induction on n). For $n = 1$ we have

$$F_r^{(I)}(k, 1) = 1 = F_r^{(II)}(k, 1) + F_r^{(II)}(k, 0). \quad (24)$$

Assume that equality (23) is true for an arbitrary n . We will prove it for $n + 1$. By the recurrence (6) and by induction hypothesis we get

$$\begin{aligned} F_r^{(I)}(k, n+1) &= r F_r^{(I)}(k, n-1) + r^{k-1} F_r^{(I)}(k, n+1-k) \\ &= r (F_r^{(II)}(k, n-1) + F_r^{(II)}(k, n-2)) \\ &\quad + r^{k-1} (F_r^{(II)}(k, n+1-k) + F_r^{(II)}(k, n-k)) \\ &= r F_r^{(II)}(k, n-1) + r^{k-1} F_r^{(II)}(k, n+1-k) \\ &\quad + r F_r^{(II)}(k, n-2) + r^{k-1} F_2^{(II)}(k, n-k) \\ &= F_r^{(II)}(k, n+1) + F_r^{(II)}(k, n), \end{aligned} \quad (25)$$

which ends the proof. \square

Analogously we can prove the following.

Theorem 8. For $r \geq 1, k \geq 3$, and $n \geq 0$,

$$2 F_r^{(I)}(k, n) = F_r^{(II)}(k, n) + F_r^{(III)}(k, n). \quad (26)$$

Theorem 9. For $r \geq 1, k \geq 2, n \geq 2k$, and $j = I, II, III$,

$$\begin{aligned} F_r^{(j)}(k, n) &= r^2 F_r^{(j)}(k, n-4) + 2r^k F_r^{(j)}(k, n-k-2) \\ &\quad + r^{2k-2} F_r^{(j)}(k, n-2k). \end{aligned} \quad (27)$$

Conflict of Interests

The author declares that there is no conflict of interests regarding the publication of this paper.

Acknowledgment

The author would like to thank the referee for helpful comments and suggestions for improving an earlier version of this paper.

References

- [1] R. Diestel, *Graph Theory*, Springer, New York, NY, USA, 2005.
- [2] S. Falcón and Á. Plaza, "On the Fibonacci k -numbers," *Chaos, Solitons & Fractals*, vol. 32, no. 5, pp. 1615–1624, 2007.
- [3] E. Kilic, "The generalized order- k Fibonacci-Pell sequence by matrix methods," *Journal of Computational and Applied Mathematics*, vol. 209, no. 2, pp. 133–145, 2007.
- [4] S. Falcón and Á. Plaza, "The k -Fibonacci sequence and the Pascal 2-triangle," *Chaos, Solitons and Fractals*, vol. 33, no. 1, pp. 38–49, 2007.
- [5] S. Falcon and A. Plaza, "On k -Fibonacci numbers of arithmetic indexes," *Applied Mathematics and Computation*, vol. 208, no. 1, pp. 180–185, 2009.
- [6] M. Kwaśnik and I. Włoch, "The total number of generalized stable sets and kernels in graphs," *Ars Combinatoria*, vol. 55, pp. 139–146, 2000.
- [7] E. Kilic, "The Binet formula, sums and representations of generalized Fibonacci p -numbers," *European Journal of Combinatorics*, vol. 29, no. 3, pp. 701–711, 2008.
- [8] E. Kilic and A. P. Stakhov, "On the Fibonacci and Lucas p -numbers, their sums, families of bipartite graphs and permanents of certain matrices," *Chaos, Solitons and Fractals*, vol. 40, no. 5, pp. 2210–2221, 2009.
- [9] A. Szynal-Liana, A. Włoch, and I. Włoch, "On types of distance Fibonacci numbers generated by number decompositions," *Journal of Applied Mathematics*, vol. 2014, Article ID 491591, 8 pages, 2014.
- [10] I. Włoch, U. Bednarz, D. Bród, A. Włoch, and M. Wołowiec-Musiał, "On a new type of distance Fibonacci numbers," *Discrete Applied Mathematics*, vol. 161, no. 16-17, pp. 2695–2701, 2013.
- [11] U. Bednarz, D. Bród, I. Włoch, and M. Wołowiec-Musiał, "On three types of $(2, k)$ -distance Fibonacci numbers and number decompositions," *Ars Combinatoria*, vol. 118, pp. 391–405, 2015.